
EE 201 —  HW 3-18  Name__________________________________________

For the “π - network” shown at right, determine the 
values for Ra, Rb, and Rc so that the corresponding two-
port parameters will be:
 
 
R1 = 6 kΩ,

a21 = 0.667

R2 = 2.25 kΩ, and 

a12 = 0.25.

Note: You will need to “work backwards”.  Use the method described in the notes to express R1, a21, etc 
in terms of Ra, Rb, and Rc.  Then using the relationships, determine values for the three resistors in the 
original circuit.

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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